Efficiency vs P,

~0.0%
o
£9.009
>
9.008
o
.007
0]
0.006
0.005
0.004
0.003
0.002
0.001

0
il

Ratio

0.9

107 1 10 prT (Ge\})o3

—=— DQMstep3_SMS_CKF
—e— DQMstep3_SMS_default
—+— DQMstep3_SMS_defaultNEWT

=0.01
[
2.009
(8]
9.008
5}
£.007
()
0.006
0.005
0.004
0.003
0.002
0.001
.0

Ratio
N
!IIII TTT1

Efficiency vs ¢

o 0.0 " " T T T T
o S N T
S A

2 E . . . : : :
®.008E- - peeeeee Peeeeee AR e
5 E : : : : : :
8.007 - e Beeeeee Free Breeeee
@ E: : : : : : :
0.006------ peeneee Peeeeee R AR
S R S S S
S
7SO S S e

L S S R

R A

1.0 *

L -

Ratio




	Contents
	Page 1


